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29 AJAMNM

T 2 MEIHA = 9 nl
W 29F 20243 7|R0HS EAlE ZEAMY HALA EYGISURERESR)
1-1. A 24 S AFH|(1,250,000,0008) X & 96,094,000
1-2. Y 3H| 6,993,000 e
2. 27 <1> 103,087,000
3. BIL7HXIM| <2> X 10% 10,308,700
4-1. Tl EEE <1> X 0.406% 418,533
5. g4 <2> + <3> + <4> 113,814,233
6. A 2A 9| 113,810,000




<A UWARA>

Moo= = 8 2z bl
° T T E 5 A = R T =L S - T T = O - . B
H 7|58 TAlE THAIY MAIMA 8(stEYSREYR)
Al 238l 1 A 96,094,000 - - 96,094,000
g3l 6,993,000 2,781,000 4,212,000
.=l 1 A 6,993,000 - 2,781,000 4,212,000
3 Al 1+2+3 103,087,000
4 |2 It JEXIAl 3. 21 10% 10 % 10,308,700
5 |Eoltid=sHES 3.A1 2 0.42% 0.406 | % 418,533
6 | =2 0HE = 3+4+5 113,810,000
7 9EE X8 6 100.0 | % 113,810,000
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o b ZF 9 | o s | 3 A4 | e s | ZF o
A Al & H Y 96,094,000 - - 96,094,000
1). & Al £ Y| 96,094,000 96,094,000 &2,
ESESEE Y] 6,993,000 - 2,781,000 4,212,000
1).& & dl 6,993,000 - 2,781,000 4,212,000
SHE=H 9,000 m’ 6,993,000 - 309 2,781,000 468 4,212,000
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3 3 T | e
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HsE XEHEEY m2g
s ES 7% 0.34 ol 117,931 117,931
EF 13 7ex 19.74 2l 5,799,592 5,799,592
EF E2 71X 35.76 2l 9,759,440 9,759,440
EF x3 71ax 35.37 2l 7,551,354 7,551,354
EF x5 7|sAt 29.32 2l 5,688,930 5,688,930
25 o5 12.42 2l 2,056,069 2,056,069
2 30,973,316
m & Al +100,000 309
M 2 110 % 309 309 339
g elAalel 110%)
ﬂauylﬁéilﬂ 20%) 20 % 648 648 129
BHA| 777 309 468




SAEZH# 1> AAEAHH &4E2H

1.5 2| 1,860,000,000 (&)

2).AANEH HESSAMH(FESAMHINA RILAISH)
1,860,000,000 =~ 1.1 = 1,690,909,090 (&)

3). A& AAl &I

1,690,909,090 x 5.68% = 96,094,363 (&) 96,094,000 (&) (Mchel olst EAL
(AAIZAHI0=E S LISl SAIE DMK M2d= ZEAS dAHSAM 28 HIE0l ZEE )
* R ME (HLE2HHU2H ST  AXILIGE AFFTHOE Dl MIBE MI19%
-.109& X 6.16%

-.209& X 5.47%

.‘

Y = Y1 (X=Xx2) (Y1 -Y2)
(X1-X2)

Soi= %  1,690,909,090 (&) y. gl SAes
X1;  2,000,000,000 (&) yi: H23des; 6.16%
X2;  1,000,000,000 (&) yo . 2 8% 28 5.47%

( 1,690,909,090 - 1,000,000,000 )

rY = 6.16% - x ( 6.16% - 547% ) = 5.68%
( 2,000,000,000 - 1,000,000,000 )

% QIXILIOIZ AFICHOH D1 MIBE MI13X(RE8)
- HBEHRE.(HAMRS2 100%) = 5.68% x  100% = 5.68%
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=7 At H A Ef JHEFAFS HI X E S AHI ni
1,860,000,000 1,860,000,000
1 JIZ2HE SA= A OIS XM= 2ha 1,860,000,000 1,860,000,000
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[HE 1] 78522 28

ot J12EH
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B4 == ﬁaw = )w SFE
102{¢ o3t 3.78 2.93 415 3.45
209{ ¥ ol3t 3.33 2.69 3.64 3.07
302 ¥ o3t 3.10 2.55 3.37 2.86
502{# o|s} 2.82 2.39 3.06 2.63
1002{# ol&} 2.49 2.19 2.68 2.34
200 ¥ ol#t 2.20 2.01 2.35 2.08
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5,000 & 0|3t 1.23 1.33 1.28 1.21
5,0002 8 ZE3} | 150.4915x O | 40.9003x 0¥ | 209.2442¢ %' | 113.8676x 01
Lk &AIEH
2
Bk =) s P e G
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